Proper Fractions. Solve by finding a common denominator. Simplify.
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Mixed Numbers. Solve by finding a common denominator. Simplify.
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Multiple Choice. Select the correct answer for each problem below.

Which expression can be used to solve %;',i— %5% common denom - 18
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Eli read|3/12 bof his book today at school. When he got home, he
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Evelyn usedﬂounces of red paint, 2 3/M }unces of blue paint, and- 7/12 lounces
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Free Response. Solve each word problem below. Simplify. \ g = l "5“
Izzy bought|3/4 dozen glazed An ice cream shop sold|6 I/6) gallons of

doughnuts and|2/3 (dozen of chocolate vanilla ice cream and 4 34 hallons of

sprinkled doughnuts. How mapy_dozen chocolate ice cream. How, many gallons of
doughnuts did Tzzy buy] &Enddinn ce cnolahhm
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Comparing Fractions. Use the >, <, or = symbol to compare the fractions.
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Ordering Fractions. Order the fractions from least to greatest.
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Line Plots. Create and interpret the line plot using the data below.

Dave went to the post office to mail holiday gifts to his cousins. He weighed
each gift package to make sure he added enough stamps to the packages.
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